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JUNE 2015 MATRIC AP MATHEMATICS ANSWER BOOKLET

ANSWER BOOKLET /

NAME:

QUESTION 7
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(a) Sketch f(x) = —|—e* + 4| on the axes above. /
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®)  hx)=lx-2]-6 /

(1) Determine the co-ordinates of the intercepts of h. / ' - /

2 -rnE? \f/,::é/ =0
/4

.. o= fx-2/-¢€ i
6= /x-a/

xR = o X 27 €

"',’)C': 5 A »\4
8 o) pe -7 o o
- - . -
(fTrF ek ¢z O U g = -3/ & Sogr g (O %)
(2) Determine the equation of each straight line branch of h. / o /
T XA 20 Lg X-ALa
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3) Sketch h(x) = |x — 2| — 6 on the axes above. - @
(4)  Sketch g(x) = —x — 2 on the axes above. - @

(5) Determine algebraically the co-ordinates of the point(s) of intersection

of h and g. -
"Z,,;C < A s .[;/— x%&
el ~x-yg =-x-2 ¢ Po.ro D% = ~x-2 ¥
[ = 2. .; f?/{ < é
0 Solabn: i Gy v
(ko 223 Y * 52
/4 .
&oy s
7
(6)  State the value(s) of x for which g(x) = h(x). @

e
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© @O f=e*
State the equation of f~1(x). @
A M) = G X

2) f~1 is then translated 2 units to the left and 1 unit down to form p(x).

State the equation of p(x). v @
/,gdz) = G x AFRD — )y

~

@ o
‘ o
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Obé,wg,;,, B l 3
XER 20 l \
x> -2 ,
(7»/»,/4 Sub 46 S R
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”_:y: “O/J}

X -tgr ju/{y:a

O = nlxst)
Sof n (2AR)
DA
e T XA
Lxz € (3)  Sketch p(x) onthe axes above. Give intercept(s) to 2 decimal digits if ~
o e necessary. L @
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>

QUESTION 11(e)

3x+3
3x—x2

Given: fx) =

R

 Jeny
7 7/*/5] /6&{71:4"3’/ -/
(e) Sketch a fully labelled diagram of f on the above axes. ®)
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